BREUT: KA

P4y 75 PRI % 5%
AT E: 2021478 3H 14:30—17:00

B KE S AR, SRR RUB AR R A RXE, 0U € C° MTFH/ENT >0, Ur =U x (0,T).
1.(15%})#u € C2(Ur) RFH TR

u —Au=0 in Ur

MR, u > 0in Up iV cc UsEE, iE: XFFEEO <t <t2 2T, HFEESRC, H18

supu(-,t) < Cinfu (-, t2),
v v

HoK#HTn, V t1, ta.
2.(1550) 4580 < p < R, Bu € C}(KRrtp) N C(Kr+p) W RF2

u —Au=0 in KR4yp,
HbKp = {(z,1) : |z|* + |t| < R%,t < 0}, iE¥]

C
sup |Vu| < = sup |u],
Kr p Kﬂ+p

Kok Fn, R (B5: ERBEESe = (R+p)? — |22 + 12 Vul* + au?)
3.(104)) 1% u(z, t) [0, 2] x Ry FHILE AR

Uy = Uz
ua:l’.':=0 = 11 u:;|:1:=2 =13

ulimo =23+
BIRE. 1] t_l’iinwu(z,t)ﬂﬁ‘ﬁﬁ? ERIERY, BUUHAER.
4.(254%)%u € C3(Ur) N C(Ur)HE 7772
U — f: (aijum,)xj =f i Ur
ig=1
w=0 on OU x[0,T]
u=g on Ux{t=0}
Hegii f € 0®(Ur),g € C*(U),a" = ¥, BFEEHO < X < A < +oofEBRNFILFRLN(z,t) € Ur, €€
R A< 3 a(z 066 < AlEl T
o=

L=

(1)]ulpoeqo,sz2wy) + IullLso,rimiwy € (|Ifll 3 0,22 (wy) + Ngllzaqwy)s

@)[fullpe o,y + 19 lz20,izawy < Cllflzaimizawy + g\l 73 vy)s

@)l z=o. 2@y + Wl 2o awy £ CUflE @2 W) + llgll macen), EFRCRMTU, TR LEVRAL
5.(15%)) Ru N H FBuy — f: Vug,s, = 0 in R™ x (0, +-00) I HAR, H ol .= o¥(z) € C°(R™) BlghRRE TR

i,j=1

1,j=1

n .
{ Y. a¥¢s,ds, =1,4>0 in R™— {zo}
g(20) =0

BB, & ASEHEK = {(z,t) : ¢(z) < to— 1t} K = {zlgz) < to— t}AEH: FHu = w =0 on Ko
Mu=0in K.

el
*f;-l'%%_ goood od



{# & BB

wyy = Uzz
wlaco = ulz=1 =0

ule=o = 0, ut|t=0 = 2?(1 — )

6.(10&})&11-(.1:. ) [0, 1] % R, ¥l

' [uf (z, t) + ul (=, t)] dz.
PR

fpE. 3K lim

t—+o° Jo

7.(104)®U = B2?(0)» u(z, y) &

Au=zy n U
wu=0 on U

gy, Ku(0,0).
8.(104)#&u € C*(U) N co(U)HRITHE
Au=f nU
u=g on OU ’
kT diam(U)-

Hehf g € COU), EH: Nlull poo @) < CllfllLe@ t gl o= (a0)) * HPC

0.(1043) DA Fru X, EH: iz S
Y b
Au+u%ﬁ=0 in U
u=0 on OU

HIIEf#u € C(U) N FE.

5
'"*'4-':;":: 00000 OO0




